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System Testing




System Testing Plan

Testing Feature

|dentifier Valid value

O0:manual 2E0A cHES =2 & AlZ2tS BHEoIEE &
bR
MWO.STC.000 Alzt &3 Het 200 a b HES 0|25 Ast= AlZtOZ
O0:manual ZEEHAN cHES =2& 22 HEoIEE &
xi
ASEGIA | == €5 N5t 20 a, b HES 0125 Rots 252 B

Alz2h/es 2 8 00manual 2E0AM cHES Sl A2t £ 2EE X

MWO.5TC.002 o Hots AR B2
MWO.STC.003 QS e JHES ST A Fsts DE= Meisic),

AZH € F= QC) SHCUS [ eHES 20 =
MWO.STC.004 X2 AIXH/=A Ol HXIM X2t ARG D & 8 [ +20 20| HAH =

210t HASC

T2l AR S AI2H0] 00:00 22 2T 25 &2 Al HA 9
MWO.STC.005 X2l &2 o 20| MX D 322 BeepS0l 22/ X2| 222 ¢ &

QLCH,

i F2I=0| 0lY M fHES =23 20| HXH 20| L2 D

MWO.STC.006 &£ Zal/csl < === -

StH H =20 0| JHAMH 20| &SI,



System Testing Plan

Test Case & Test Data — MWO.STC.000

Identifier input specification Output specification

MWO.STC.000.000 00:00, a 00:10

MWO.STC.000.001  00:00, b 00:30

MWO.STC.000.002 00:50, a 01:00

MWO.STC.000.003 09:50, b 10:00

MWO.STC.000.004 10:00, a 00:10

MWO.STC.000.005 10:00, b 00:30

MWO.STC.000.006 00:00 a; b; a 00:10 > 00:40 > 00:50
MWO.STC.000.007 (menual2=Jt Ot M) a; b & FE AI2H0l HACEX $S
MWO.STC.000.008 00:00, e; a; b 00:10 > 00:40
MWO.STC.000.009 (20| €2 M) a; b; f XS AI2H0| HACK 22
MWO.STC.000.010 (X2l M), a; b AIZHOl HEE X 2SS
MWO.STC.000.011 (=E2| &= £), a;b 00:10 > 00:40

MWO.STC.000.012 (F& &), a;b 00:10 > 00:40



System Testing Plan

Test Case & Test Data — Mw0.STC.001

Identifier input specification Output specification

MWO.STC.001.000 20T, a 30T
MWO.STC.001.001 20T, b 40T
MWO.STC.001.002 90T, a 30C
MWO.STC.001.003 90T, b 40T
MWO.STC.001.004 80T, b 90T
MWO.STC.001.005 20T, a; b; a 30T > 50T = 60C
MWO.STC.001.006 manual2=2Jt Ot< [ 25 ZAl X
MWO.STC.001.007 (201 €S M), a; b; f 2zt HELX €S
MWO.STC.001.008 (X2l S M), a; b 2zt HELX ES
MWO.STC.001.009 (Z=2| 22 ), a; b 20T > 30T > 50C

MWO.STC.001.010 (Fl& F), a:b 20T > 30C > 50C



System Testing Plan

Test Case & Test Data — MWO0.STC.002

m input specification Output specification

MWO.STC.002.000
MWO.STC.002.001

MWO.STC.002.002

MWO.STC.002.003

MWO.STC.002.004

MWO.STC.002.005

MWO.STC.002.006

MWO.STC.002.007
MWO.STC.002.008

T2 A Al
C

(manual2E L I XX:XX),
cle

(manual2&< [ XXC), c;
&

(manual2EJt Ot M) ¢
(20| €= M) c
(X2l 52 M) c

(X2l &2 F)c
(HA F)c

00:00 (A|2tDt 2% = A|2t8F T AIE)
20C (A2t 25 = 250 TA|E)

20C - 00:00

00:00 > 20T

CIZ BHRA %3
[Al2} > 25] E= [2% 2> Al2H]2Z HiHH

2|12 2 HHH



System Testing Plan

Test Case & Test Data — Mw0.STC.003

m input specification | Output specification

MWO.STC.003.000

MWO.STC.003.001

MWO.STC.003.002
MWO.STC.003.003
MWO.STC.003.004
MWO.STC.003.005
MWO.STC.003.006
MWO.STC.003.007

T8 e Al

00:30 / 00: manual,
d;d;d; d; d; d; d;

00:00, c; d
00:00, e; d
00:00, f; d
(X2l =52 ) d
(X2l 28 8)d
(Hax #F)J

00:manual

01:00/01: & = 01:30/ 02: = > 02:00/ 03: &
- 05:00 / 04: =/®JH => 02:00 / 05: IL| Xt
- 00:00 / 00: manual

20C > 01:00/01: ¢

01:00/01: ©

22 0 HE A0l S KA 25
SE2 10 E Al2+0l H
01:00/01: ©

01:00/01: ©

N

b2
0/0

ol



System Testing Plan

Test Case & Test Data — Mw0.STC.004

Identifier input specification Output specification

MWO.STC.004.000 10:00, e 10:00
MWO.STC.004.001 10:00, e, 1= K& 09:59
MWO.STC.004.002 01:00,e, 1= K& 00:59
MWO.STC.004.003 60T, e 20T
[E32%0t30TC 20 2
MWO.STC.004.004 (] 30T
(Xel 8) 20¢C, 3= X &
MWO.STC.004.005 (=2l &) XXXX e 00:00
MWO.STC.004.006 (=2l &) XXT, e 20T

MWO.STC.004.007 (X2l &) 0X: XXXXX, e 00: manual



System Testing Plan

Test Case & Test Data — Mw0.STC.004

m input specification Output specification

MWO.STC.004.008
MWO.STC.004.009

MWO.STC.004.010
MWO.STC.004.011

MWO.STC.004.012

MWO.STC.004.013
MWO.STC.004.014

MWO.STC.004.015

MWO.STC.004.016
MWO.STC.004.017
MWO.STC.004.018

(A =) 10:00, e
(M =) 10:00,e, 1= Xl

(HA =) 01:00, e, 1= X
AF2TI30C BO 2M]
F

& X2l ) 20T, 3% X

) XX:XX, e
S) XXT, e
) Xz XXXXX,

™
>
o
N
o
O

10:00
09:59

00:59
20T

30T

00:00
00:00

00: manual

A& EIX]
IR =P

=234 g0l

b2

b2
0l0 0/0

[
Oli

HAl

SN ESE= PN
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System Testing Plan

Test Case & Test Data — Mw0.STC.005

Identifier input specification Output specification

MWO.STC.005.000 (X2 =) 00:01, 12 X x| display@ =0}JtH beep

o gt
0/0
w
B
N

MWO.STC.005.001 [&F2%30TY ]
(x2l &) 20T, 3% K&

=J| display2 =0JIH beepd 3x=72t

B o 0> Mo >
ou O

MWO.STC.005.002 ([Al2F d&4]=x2|F), a; b 2l 22 5 A8 x| display® S0+
MWO.STC.005.003 ([2% d&]x2l=), aib xol 22 & A8 x| display2 S0H2
MWO.STC.005.004 ([2E Hd&i]x2lS), d; Xl 22 5 A48 x| display2 S0+
MWO.STC.005.005 ([Al2t &&]X2CIS), ¢ x| 22 & A8 x| display2 S0+
MWO.STC.005.006 ([2% HE]X2IH), c Xol 22 & A8 x| display2 S0+
MWO.STC.005.007 (Z2|5), f X2l 22 5 A8 x| display2 S0+



System Testing Plan

Test Case & Test Data — Mw0O.STC.006

Identifier input specification Output specification

MWO.STC.006.000 (&2l &) XX:XX, f; f KEXK > XX:XX

MWO.STC.006.001 (X2l &) XX, f; f XXTCT > XXT

MWO.STC.006.002 (=2l &) 0X: XXXXX, f; f 0 JOOOC 2> 0X: XXXXX
MWO.STC.006.003 (x2| &) f —E—gl})%ﬁlﬂ & =Ct. (backlightot A XIXI &4

MWO.STC.006.004 (FA &) f;f Backlight On = Backlight Off



System Testing Report

Test Result

MWO.STC.000.000 PASS MWO.STC.001.000 PASS
MWO.STC.000.001 PASS MWO.STC.001.001 PASS
MWO.STC.000.002 PASS MWO.STC.001.002 FALL
MWO.STC.000.003 FALL MWO.STC.001.003 FALL
MWO.STC.000.004 FALL MWO.STC.001.004 PASS
MWO.STC.000.005 FALL MWO.STC.001.005 PASS
MWO.STC.000.006 PASS MWO.STC.001.006 PASS
MWO.STC.000.007 PASS MWO.STC.001.007 FAIL
MWO.STC.000.008 PASS MWO.STC.001.008 PASS
MWO.STC.000.009 FAIL MWO.STC.001.009 PASS
MWO.STC.000.010 PASS MWO.STC.001.010 PASS
MWO.STC.000.011 PASS

MWO.STC.000.012 PASS



Comments

MWQO.STC.000
MWO.STC.000.003 = AlZ2+0] 9:50& [ b

MWO.STC.000.004 > Al2+0] 10:00& [ aHE= =ci& AlZ2+0] 00:00
O= Hi=

MWO.STC.000.005 > Al2t0] 10:00€ i b HES =ik Al2H0]
00:002 =2 "

MWO.STC.000.009 - & Z2l1] /U= [ a, bHES =T &t0| Bot

X &ZXe & &2 2t 80l b

25
rm
Nio
THr
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=
s
&
ol
£
0|0

MWO.STC.001
MWO.STC.001.002 > 90C

MWO.STC.001.003 - 90C &
MWQO.STC.001.007 > & E¢l

ZXC 2 &2 &2t 0| b

—_ C - Ul
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System Testing Report

Test Result
| Identifier | Pass/Fail | Identifier | Pass/Fail

MWO.STC.002.000 PASS MWO.STC.003.000 PASS
MWO.STC.002.001 PASS MWO.STC.003.001 PASS
MWO.STC.002.002 PASS MWO.STC.003.002 PASS
MWO.STC.002.003 PASS MWO.STC.003.003 PASS
MWO.STC.002.004 PASS MWO.STC.003.004 PASS
MWO.STC.002.005 PASS MWO.STC.003.005 FAIL
MWO.STC.002.006 PASS MWO.STC.003.006 PASS
MWO.STC.002.007 PASS MWO.STC.003.007 PASS

MWO.STC.002.008 PASS



System Testing Report

Comments

MWO.STC.003
MWO.STC.003.005 - ‘00: MANUAL'0l ‘00:MENUAL'Z H}#Ct.



Test Result
| Identifier |  Pass/Fail | lIdentifier |  Pass/Fail |

MWO.STC.004.000
MWO.STC.004.001
MWO.STC.004.002
MWO.STC.004.003
MWO.STC.004.004
MWO.STC.004.005
MWO.STC.004.006
MWO.STC.004.007
MWO.STC.004.008
MWO.STC.004.009
MWO.STC.004.010

PASS
PASS
PASS
PASS
PASS
PASS
PASS
PASS
PASS
PASS
PASS

MWO.STC.004.011
MWO.STC.004.012
MWO.STC.004.013
MWO.STC.004.014
MWO.STC.004.015
MWO.STC.004.016
MWO.STC.004.017
MWO.STC.004.018

PASS
PASS
PASS
PASS
PASS
PASS
PASS
PASS



System Testing Report

Test Result
| identifier |  Pass/Fail | Identifier | Pass/Fail

MWO.STC.005.000 PASS MWO.STC.006.000 PASS
MWO.STC.005.001 PASS MWO.STC.006.001 PASS
MWO.STC.005.002 PASS MWO.STC.006.002 PASS
MWO.STC.005.003 PASS MWO.STC.006.003 PASS
MWO.STC.005.004 PASS MWO.STC.006.004 PASS
MWO.STC.005.005 PASS

MWO.STC.005.006 PASS

MWO.STC.005.007 PASS



Unit Testing




Test& Process(DFD) 2IAE
D |Name |Descripton

§ 7 Inout M 2l =l Button SignalOil [HekAl Button Datall gt BIAHE F CHA
: nputManager g xgiz=cy.

2.1.3 Light_on TriggerJt &5 AH Light On2l S&= F &t}
2.1.4 Light_off TriggerJl & A Light Offe S&= F &HLF.

Enable0| 8 S ™ Sound on, DisableO] 8 & &l ™ Sound offe S&t
2.1.5 Beep Sound o o=

= F &tC}.

TriggerJt &S &l ™ Button DataE M35t time2 gt &S F N
2.1.7  Time Setting IéHg_;; o T

Triggerdt 22 & ™ Variable Data.c_valueE XM 3AdtH M0 CHEt

2.1.8  Menu Setting display command& 24 = B A& Button Data & Variable Datas
X &ole 88 MAStl.

— == OH
TriggerJt &2 5| ™ Button Data & Variable DataZ M A5+t
2.1.9 Temp Setting COoIXl 2&E2EQIXI0l CHsSt display commandE EY = E“'?é' =
Button Data & Variable DataZE M&ol= =22 MASHCL.

roll



Unit Testing Plan

Test& Process(DFD) 2IAE
D |[Name |Descripton

TriggerJt &2 & ™ Button Data & Variable DataZ Xl =25t
2.1.10 Mode Setting COoIXl 2&E L2 =01 X0l CHet display commandE Y = H&E &
Button Data & Variable DataE M&ol= =22 MASHC).

TriggerJt 212 & ™ Button Data & Variable DatagE M 36t

o AIZHE
2.1.11 Start/Cancel COolXl 22 EQIX0f CHet display commandE B = HAEE
Button Data & Variable DataE M&ol= =22 MASHC).
Monitor Button Data & Variable Datall &EfE XN A0tH 5ItK Z2MlA =

2.1.6  Gontroller X35t £OZ triggerS E2 5HCH



Unit Testing Plan

Test Design ldentification

o Feature (Process ID .
|dentifier in DFD) Valid Value

:\)AWO.UTC.OO 1.7 Input Manager CHE0I S0=2t
MWO-UTE-00"4 7 Input Manager DHE0I SOI2C}
g‘WO'UTC'OO 1.7 Input Manager EBHE0I S0=U
MWO.UTC.00 7 Input Manager FHEOl S0 =L

3



Unit Testing Report

Test Case |dentification

Key == 3 / variable_Data.e_value == 0 /
variable_Data.f_value == 0 /
variable_Data.d_value == 0 /
Variable_Data.c_value ==

Key == 3 / variable_Data.e_value == 0 /
variable_Data.f_value == 0 /
variable_Data.d_value == 0 /
Variable_Data.c_value ==

Key == 4 / variable_Data.e_value == 0 /
variable_Data.f_value == 0 /
variable_Data.c_value == 0 /
variable_Data.d_value ==

MWO.UTC.000.000 Variable_Data.c_value = 0

MWO.UTC.000.001 Variable_Data.c_value = 1

MWO.UTC.001.000 variable_Data.d_value = 0



Unit Testing Report

Test Case |dentification
Identifier | Input Sepcification | Output Specification

Key == 4 / variable_Data.e_value == 0 /
MWO.UTC.001.001 variable_Data.f_value == 0 / Button_Data.b_D =10
variable_Data.c_value ==

Key == 5 / variable_Data.f_value == 0 /
MWO.UTC.002.000 variable_Data.e_value == 0 / Variable_Data.e_value = 1
variable_Data.time == 10 (!= 0)

Key == 5 / variable_Data.f_value == 0 /
MWO.UTC.002.001 variable_Data.e_value == 0 / variable_Data.e_value = 1
variable_Data.temp = 30 (= 20)

MWO.UTC.002.002 Key == 5 / variable_Data.f_value == 0 /

VTl DL el Variable_Data.e_value = 0

MWO.UTC.002.003 Key == 5/ variable_Data.f_value == Button_Data.b_E =0
Key == 6 / variable_Data.e_value == 0 / Variable_Data.f_value = 1
MWO.UTC.003.000 variable_Data.f_value == Button_Data.b_F =0
== i == i D . -
MWO.UTC.003.001 Key==6 / variable_Data.e_value / Variable_Data.f_value = 0

Variable_Data.f_value == Button_Data.b_F =0



Unit Testing Plan

Test Design ldentification

|Identifier Feature (Process ID in DFD) Valid Value

MWO.UTC.004 2.1.3 Light_on TriggerJdt 0 2CH

Test Case ldentification

|dentifier Output Specification

MWO.UTC.004.000 Trigger in Variable_Data.light = 1




Unit Testing Plan

Test Design ldentification

|Identifier Feature (Process ID in DFD) Valid Value

MWO.UTC.005 2.1.4 Light_off TriggerJt S0 2CH

Test Case ldentification

|dentifier Output Specification

MWO.UTC.005.000 Trigger in Variable_Data.light = 0




Unit Testing Plan

Test Design ldentification

|Identifier Feature (Process ID in DFD) Valid Value

MWO.UTC.006 2.1.5 beep_sound Enable0| S =2Ct

Test Case ldentification

Identifier | Input Sepcification _______| Output Specification

Variable_Data.check = 3
Variable_Data.sound = 0

MWO.UTC.006.000 Enable, tick



Unit Testing Plan

Test Design ldentification

Identifier Feature (Process ID in DFD) | Valid Value

MWO.UTC.007 2.1.7 Time setting AHEOl SH=2Ch

MWO.UTC.008 2.1.7 Time setting BHEOl sS0H=2C



Unit Testing Report

Test Case |dentification
Identifier | Input Sepcification | Output Specification

button_Data.b_A == 1 / button_Data.b_B ==
SO Y variable_Data.time ==

button_Data.b_A == 1 / button_Data.b_B == 0
variable_Data.time == 590

button_Data.b_A == 1 / button_Data.b_B ==
variable_Data.time==600

button_Data.b_B == 1 /button_Data.b_A == 0/
variable_Data.time==

button_Data.b_B == 1 /button_Data.b_A == 0/
variable_Data.time == 570

button_Data.b_B == 1 /button_Data.b_A == 0/
variable_Data.time ==580

button_Data.b_B == 1 /button_Data.b_A == 0/
variable_Data.time == 590

button_Data.b_B == 1 /button_Data.b_A == 0/
variable_Data.time == 600

variable_Data.time = 10

MWO.UTC.007.001 Variable_Data.time = 600

MWO.UTC.007.002 variable_Data.time = 10

MWO.UTC.008.000 variable_Data.time = 30

MWO.UTC.008.001 Variable_Data.time = 600

MWO.UTC.008.002 variable_Data.time = 600

MWO.UTC.008.003 variable_Data.time = 600

MWO.UTC.008.004 variable_Data.time = 30



Unit Testing Plan

Test Design ldentification

MWO.UTC.009

MWO.UTC.009.000

MWO.UTC.009.001

MWO.UTC.009.002

MWO.UTC.009.003

MWO.UTC.009.004

MWO.UTC.009.005

2.1.8 menu setting

Trigger in, variable_Data.c_value == 0 /
variable_Data.d_value ==

Trigger in, variable_Data.c_value == 0 /
variable_Data.d_value ==

Trigger in, variable_Data.c_value == 0 /
variable_Data.d_value ==

Trigger in, variable_Data.c_value == 0 /
variable_Data.d_value ==

Trigger in, variable_Data.c_value == 0 /
variable_Data.d_value ==

Trigger in, variable_Data.c_value == 0 /
variable_Data.d_value ==

Triggerdt S 2CH

Test Case |dentification

|dentifier Output Specification

Variable_Data.time = 0
Variable_Data.menu = “00:MANUAL”

Variable_Data.time = 60
Variable_Data.menu = “01:RICE CAKE”

Variable_Data.time = 90
Variable_Data.menu = “02:RICE SOUP”

Variable_Data.time = 120
Variable_Data.menu = “03:RICE”

Variable_Data.time = 300
Variable_Data.menu = “04:SOUP”

Variable_Data.time = 120
\/ariable Data menii = “OR:PI77A”



Unit Testing Plan

Test Design ldentification

Identifier Feature (Process ID in DFD) | Valid Value

MWO.UTC.010 2.1.9 Temp setting AHEOl SH=2Ch

MWO.UTC.011 2.1.9 Temp setting BHEOl =20k



Unit Testing Report

Test Case |dentification
Identifier | Input Sepcification | Output Specification

button_Data.b_A == 1 / button_Data.b_B == 0/
MWO.UTC.010.000 variable_Data.temp ==

button_Data.b_A == 1 / button_Data.b_B == 0/
variable_Data.temp == 80

button_Data.b_A == 1 / button_Data.b_B == 0/
variable_Data.temp==90

button_Data.b_B == 1 / button_Data.b_A == 0/
variable_Data.temp =0

button_Data.b_B == 1 / button_Data.b_A == 0/
variable_Data.temp = 70

button_Data.b_B == 1 / button_Data.b_A == 0/
variable_Data.temp=80

button_Data.b_B == 1 / button_Data.b_A == 0/
variable_Data.temp==90

variable_Data.temp = 10

MWO.UTC.010.001 variable_Data.temp = 90

MWO.UTC.010.002 variable_Data.temp = 10

MWO.UTC.011.000 variable_Data.temp = 20

MWO.UTC.011.001 variable_Data.temp = 90

MWO.UTC.011.002 variable_Data.temp = 90

MWO.UTC.011.003 variable_Data.temp = 20



Unit Testing Plan

Test Design ldentification

Identifier Feature (Process ID in DFD) | Valid Value

MWO.UTC.012 2.1.10 Mode setting DBHE0l SH2Ck

Test Case ldentification

Identifier | Input Sepcification _______| Output Specification

variable_Data.d_value == 0 / Variable_Data.mode = “TIME”
MWO.UTC.012.000 variable_Data.c_value == variable_Data.temp = 20
variable_Data.d_value == 0 / variable_Data.mode = “TEMP”

SO ITELEln variable_Data.c_value == variable_Data.time = 0



Unit Testing Plan

Test Design ldentification

MWO.UTC.013 2.1.11 start cancel EHEO SH=C

variable_Data.temp_s 2 variable_Data.temp

MWO.UTC.014 2.1.11 start cancel Jb 2FOFEIC}



Unit Testing Report

Test Case |dentification
Identifier | Input Sepcification | Output Specification

variable_Data.e_value == 1/

iable_Data.light = 1
MWO.UTC.013.000 variable_Data.c_value == 0 / variable_Data.time var!a °--aa |.g 3
== 10 (>2) variable_Data.time = 9

variable_Data.e_value == 1/
MWO.UTC.013.001 variable_Data.c_value == 0 / variable_Data.time

variable_Data.light = 1
variable_Data.e_value = 2

variable_Data.d_value = 0
variable_Data.menu =
“00:MANUAL”
MWO.UTC.013.002 variable_Data.e_value == variable_Data.light = 0
variable_Data.time = 0
variable_Data.temp = 20
variable_Data.temp_s = 20



Unit Testing Report

Test Case |dentification

variable_date.e_value == 1 / variable_Data.c_value

== 1 / variable_Data.check == 6 (%3 == 0) / variable_Data.temp_s = 10
MWO.UTC.014.000 variable_Data.temp_s == 0 / variable_Data.temp variable_Data.e_value = 2
== 10

variable_Data.d_value = 0
variable_Data.menu = “00:MANUAL”
variable_Data.light = 0
variable_Data.time = 0
variable_Data.time = 20
variable_Data.temp_s = 20
MWO.UTC.014.001 variable_Data.e_value == variable_Data.sound = 1
variable_Data.e_value = 0
button_Data.b_A =10
button_Data.b_B =0
button_Data.b_C =0
button_Data.b_D =0
button_Data.b_F =0



Comments

MWO.STC.000
MWO.STC.000.008 > e; atHES 2 OtA 10& St & E2|Jt Al
ZHEl .
MWO.STC.000.009 > 20| &l AEHQICl Al2t0l HH T
MWO.STC.000.012 > FA %= 22 MHZ Bt L Backlightot HE &t
EN
MWO.STC.001

MWO.STC.001.006 - manual2=Jt OtE [ 2&JF 2 AIE D UL
A2t/ 2% = 6tLISt E/\IEI_'.:_E bt 01 OF StLCt.
MWO.STC.001.007 - =0| €&l oEidl 2= HE =L
MWQO.STC.001.010 > FH & = gi2 MU= I:IP P Lt BacklightJt H &l af
EH



Unit Testing Plan

Test Design ldentification

MWO.UTC.015 2.1.6 Monitor Controller ABIE0| st
MWO.UTC.016 2.1.6 Monitor Controller BHEO0| =&ICh
MWO.UTC.017 2.1.6 Monitor Controller CHEOl st
MWO.UTC.018 2.1.6 Monitor Controller DHEOl =&t

MWO.UTC.019 2.1.6 Monitor Controller EBHE0l =&l



Unit Testing Report

Test Case |dentification
Identifier | Input Sepcification | Output Specification

Variable_Data.e_value == 0 /
variable_Data.f_value == 0 / button_Data.b_A
== 1 / variable_Data.c_value == 0 /
variable_Data.d_value ==

MWO.UTC.015.000 Button_Data.b_A =0

Variable_Data.e_value == 0 /
variable_Data.f_value == 0 / button_Data.b_A
== 1 / variable_Data.c_value == 1/
variable_Data.d_value ==

MWO.UTC.015.001 Button_Data.b_A =0

Variable_Data.e_value == 0 /
variable_Data.f_value == 0 / button_Data.b_B
== 1 / variable_Data.c_value == 0 /
variable_Data.d_value ==

MWO.UTC.016.000 Button_Data.b_B =0

Variable_Data.e_value == 0 /
variable_Data.f_value == 0 / button_Data.b_B
== 1 / variable_Data.c_value == 1/
variable_Data.d_value ==

MWO.UTC.016.001 Button_Data.b_B =0

Variable_Data.e_value == 0 /
MWO.UTC.017.000 variable_Data.f_value == 0 / button_Data.b_C  Button_Data.b_C =0
== 1 / variable_Data.d_value ==



Unit Testing Report

Test Case |dentification
Identifier | Input Sepcification | Output Specification

MWO.UTC.019.000 Vabutton_Data.b_E == Button_Data.b_E =0
MWO.UTC.019.001 Variable_Data.e_value == Button_Data.b_E =0
MWO.UTC.019.002 Variable_Data.e_value == Button_Data.b_E =0



Suite: Testing MWO_UTC_O00

Test:
Test:

Suite:

Test:
Test:

Suite:

Test:
Test:
Test:
Test:

MwO. UTC. 000, 000D ..
MwO. UTC. 000, 001 ..

. passed
. passed

Testing MWO_UTC_001

MwO. UTC. 001. 000D ..
MwO. UTC. 001. 001 ..

. passed
. passed

Testing MWO_UTC_002

MWO. UTC. 002,000 ..
MWO. UTC. 002. 001 ..
MWO. UTC. 002,002 ..
MWO. UTC. 002,003 ...

MWO.STC.000.000
MWO.STC.000.001
MWO.STC.001.000

MWO.STC.001.001
MWO.STC.002.000
MWO.STC.002.001
MWO.STC.002.002

. passed
. passed
. passed
rassed

PASS
PASS
PASS
PASS
PASS
PASS
PASS

Suite: Testing MWO_UTC_003

Test:
Test:

MWO. UTC. 003. 000
MwO. UTC. 003. 001

. . . passed
. ..passed

Suite: Testing MwWO_UTC_004

Tezt:

MWO. UTC. 004, 000

.. . passed

Suite: Testing MWO_UTC_005

Test:

MwO. UTC. 005. 000

... passed

Suite: Testing MWO_UTC_O0&

Test:

MWO. UTC. 006. 000

MWO.STC.002.003
MWO.STC.003.000
MWO.STC.003.001

MWO.STC.004.000
MWO.STC.005.000
MWO.STC.006.000

. ..passed

PASS
PASS
PASS
PASS
PASS
PASS



Suite:

Test:
Test:
Test:

~ 1.
Surte:

Test:
Test:
Test:

1.

Test:

1.

Test:

1.

Testing MwWO_UTC_007

MWO. UTC. 007. 000 ...passed

MWO. UTC.007.001 ...passed

MWO. UTC.007.002 ...FAILED

test.c:166 - CU_ASSERT_EQU
Testing MWO_UTC_0O0S8

MWO. UTC. 008. 000 ...passed

MwO. UTC.008.001 ...passed

MWO. UTC.008. 002 ...FAILED

test.c:199 - CU_ASSERT_EQU
MWO. UTC.008. 003 ...FAILED

test.c:210 - CU_ASSERT_EQU
MWO. UTC.008. 004 ...FAILED

test.ci22 - CLU_ASSERT _EQL.

MWO.STC.007.000 PASS
MWO.STC.007.001 PASS
MWO.STC.007.002 FAIL

MWO.STC.008.000 PASS

MWO.STC.008.001 PASS

AL({variable_Data.time,10)

AL({variable_Data.time,&00)

AL(variable_Data.time,&00)

AL (wvariable Data.time,30)

MWO.STC.008.002 FAIL
MWO.STC.008.003 FAIL
MWO.STC.008.004 FAIL



Suite: Testing MWO_UTC_0D09

Test:

1.

Test:
Test:
Test:
Te=st:
Test:

Suite:

Test:
Te=st:
Test:

1. test.c:317 - CU_AS

MwO.
test.
MwO.
MwO.
MwO.
MwO.
MwO.

UTC. 009. 000

c:232 - CU_AS
UTC.008.001 ..
UTC.009.002 ..
UTC.009.003 ..
UTC.009.004 ..

UTC. 0089, 005

Testing MWﬂ_UTC_ﬂiﬁ
UTC. 010,000 ..
UTC.O010.001 ..

MWO.
MWO.
MWO.

UTC. 010. 002

MWO.STC.009.000

MWO.STC.009.001

MWO.STC.009.002

MWO.STC.009.003

MWO.STC.009.004

L]
<

. FAILED

SERT_EQUAL (variable_Data.menu, "00

. passed
. passed
. passed
. passed
. passed

. passed
. passed
. FAILED
SERT_EQUAL (variable_Data. temp,10)

FAIL
PASS

PASS

PASS
PASS

MWO.STC.009.005
MWO.STC.010.000
MWO.STC.010.001

MWO.STC.010.002

: MANUAL™)

PASS
PASS

PASS
FAIL



Suite: Testing MWO_UTC_011
Test: MwO.UTC.011.000 ...passed
Test: MWD.UTC.011.001 ...passed
Test: MWO.UTC.011.002 ...passed
Test: MWO.UTC.011. 003 . passed
Suite: Testing MWO_UTC G1L
Test: MWO.UTC.01Z2.000 ...passed
Test: MWO.UTC.012.001 ...passed

MWO.STC.011.000 PASS
MWO.STC.011.001 PASS
MWO.STC.011.002 PASS
MWO.STC.011.003 PASS
MWO.STC.012.000 PASS
MWO.STC.012.001

PASS

Suite: Testing MWO_UTC_013

MwWO. UTC.013. 000 ..
Test: MWO.UTC.O013.001 ..
Test: MWO.UTC.013. 002

Suite: Testing MWO_UTC t]14
Test: MwO.UTC.014.000 ...passed

Test: MWO.UTC.014.001 ...passed

Test:

. passed
. passed
. passed

MWO.STC.013.000 PASS
MWO.STC.013.001 PASS
MWO.STC.013.002 PASS
MWO.STC.014.000 PASS
MWO.STC.014.001 PASS



Suite: Testing MWO_UTC_015 Suite: Testing MWO_UTC_O18
Test: MWD.UTC.015.000 ...passed Test: MWD.UTC.018.000 ...passed
Test: MwD.UTC.015.001 ...passed Suite: Testing MWO_UTC_0D19

Suite: Testing MWO_UTC_O16 Test: MwD.UTC.019.000 ...passed

Test: MWD.UTC.016.000 ...passed Test: MWD.UTC.019.001 ...passed

Test: MWD.UTC.016.001 ...passed Test: MWD.UTC.019.002 ...passed
Suite: Testing MWO_UTC_017

Test: MWO.UTC.017.000 ...passed

MWO.STC.015.000 PASS MWO.STC.018.000 PASS
MWO.STC.015.001 PASS MWO.STC.019.000 PASS
MWO.STC.016.000 PASS MWO.STC.019.001 PASS
MWO.STC.016.001 PASS MWO.STC.019.002 PASS

MWO.STC.017.000 PASS



Run Summary : Type Total Ran Passed Failled Inactive
sultes 20 20 n/a 0 0
tests 50 50 44 B 0

asserts B2 B2 76 & n/a

Elapsed time = 0.000 seconds




